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General Instructions :

10.

The question paper comprises of two sections, A and B you are to attempt both the sections.
All questions are compulsory.

There is no overall choice. However, internal choice has been provided in all the three questions
of five marks category. Only one option in such questions is to be attempted.

All questions to section A and all questions of section B are to be attempted separately.
Question numbers 1 to 4 in section A are one mark questions. These are to be answered in
one word or one sentence.

Question numbers 5 to 13 are two mark questions, to be answered in about 30 words.
Question numbers 14 to 22 are three mark questions, to be answered in about 50 words.
Question numbers 23 to 25 are five mark questions, to be answered in about 70 words.
Question numbers 26 to 41 in section B are multiple choice questions based on practical
skills. Each question is a one mark question. You are to choose one most appropriate response
out of the four provided to you.

An additional 15 minutes time has been allotted to read this question paper only.
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SECTION A

Classify Brass and Diamond as element and mixture.

Velocity time graph for a moving body is shown in the diagram. What conclusion can
be drawn about the type of motion ?

What is meant by free fall ?

What is “Vermi -compost” ?

CO,is a gas. Justify the given statement by two reasons.

What is a pure substance ? Give its one characteristic.
What is uniform circular motion ? Why is it considered accelerated ?

Which of the following is true for displacement ? Justify your answer for the true
statement.

(a) It can be zero.
(b) Its magnitude is greater than the distance travelled by the object.

While catching a fast moving ball, a fielder gradually pulls his hand backwards. Give
reason.

Give two main points of differences between mass and weight.
Which organelle is known as the powerhouse of the cell ? Why ?
What is meant by organic farming ?

Write any two points of difference between structure and location striated and unstriated
muscles.
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Give reasons :

(a) Water kept in an earthen pot becomes cool after some time.

(b) Ice at 0°C is more effective in cooling than water at 0°C.
Explain any three factors which affect the rate of evaporation.

Define irrigation. Briefly explain any two common irrigation systems.
Give three main points of difference between layers and broilers.

Draw a labelled diagram of a neuron and label any four parts.

Ali while driving to School, computes the average speed for his trip to be 20 km/h. On
his return trip along the same route there is less traffic and the average speed is 30 km/
h. What is the average speed for Ali’s trip ?

State Newton’s second law of motion. Write its mathematical expression. How can
you state first law from it ?

State universal law of gravitation and give its mathematical expression. Name any
two phenomena which were explained on the basis of this law.

A ball is thrown vertically upwards with a velocity of 48 m/s. Calculate

(a) the maximum height to which it rises.

the total time it takes to return to the surface of the earth.(g=9.8m/s?)

110 g of salt is present in 550 g of solution. Calculate the concentration of solution.

Give any three points of difference between true solution, colloidal solution and
suspension . 2+3=5

OR

Define solution. If 10 ml of H,SO, is dissolved in 90 ml of H,O, Calculate the
concentration of solution.

Rain water stored in a tank contains sand grains, unfilterable clay particles,
calcium carbonate salt, pieces of paper and some air bubbles. Select from these
one example each of a solvent, solute, a colloid and a suspension. 3+2=5
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24. State law of conservation of momentum and give its mathematical verification.
OR
(a) Define force and give its S.I unit.

(b)  For a mass of 2 kg the v-t graph is given. Find the force experienced by the mass
in OA, AB and BC.

B

30
t(s) —

Draw a plant cell and label the following parts :
i)  Mitochondrion

if)  Cell wall

iii) Lysosome

(
(
(
(

iv) Golgi apparatus

Draw and label prokaryotic cell. In what ways is it different from a eukaryotic cell ?

(Write any two differences)
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SECTION - B

The colour of sodium sulphate solution is :
(a) Colourless

(b) light blue

(c) Light milky white

(d) light green

A suspension of chalk in water can be prepared :
(a)

(b) By placing powdered chalk in water.

(c) By placing powdered chalk in water and shaking it vigorously.
(d) By placing powdered chalk in dil HCI.

By placing a piece of chalk in water.

A suspension of chalk and water is subjected to filtration.
(a) The filtrate contains some chalk particles.

(b)  The chalk particles are left on the filter.

(c) Nothing passes out of the filter paper.

(d) None of these

A small amount of compound is taken in a test tube and to it is added 5 cc of carbon
disulphide. The test tube is vigorously shaken. It is observed that.

Yellow coloured sulphur particles dissolve, but not the iron.
Grey coloured iron particles dissolve, but not the sulphur.
Both iron and sulphur dissolve to form clear solution.

None of the particles of compound dissolve.

The colour of zinc sulphate solution formed during chemical reaction between zinc
and dil. H,SO, acid is acid is :

(a) Light blue

(b) colourless

c)

(
(d) light green

Light yellow

The crystals of copper sulphate turn white on heating due to
(a) Loss of sulphate ions.
b) Loss of copper ions.

(
(c) Loss of water of crystallization.
(d) None of the above
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A mixture of sand, ammonium chloride and sodium chloride is dissolved in water and
filtered. The filterate consists of :

()
(b)
(©)
(d)

Ammonium chloride solution
Sodium chloride solution
Chalk and ammonium chloride solution

Sodium chloride and ammonium chloride solution

Prakhar sets up an apparatus for the determination of boiling point of distilled water
at Shimla. He recorded the boiling point as 97°C, instead of 100°C. Assuming that the
thermometer is accurate, the lesser boiling point is due to :

(a)
(b)
(©)
(d)

High pressure of air at high altitude.
Low pressure of air at high altitude.
Water may be containing a large amount of dissolved air.

The water may not be distitlled.

The process of evaporation is employed to separate a substance from its mixture if :

(a)
b)
)

(
(c
(d)

Substance is soluble in water.
Substance is soluble in water and does not decompose on heating.
Substance is soluble in water but can decompose on heating.

Substance is soluble in water but sublimes on heating.

In order to find the boiling point of water, one of the precautions is that the bulb of the
thermometer should not touch the sides of the beaker. This precaution is taken because :

()
(b)
(©)
(d)

Sides of the beaker are at slightly higher temperature.
Sides of the beaker are at slightly lower temperature.
The bulb of the thermometer is likely to break.

None of these.

Metanil yellow, an adulterant used in arhar dal, is basically :

()
(b)
(©)
(d)

An acid used in toilet cleaner.
An inorganic dye used in leather, paper and textile industries.
A detergent used as washing powder.

None of these.
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Meenu was trying to test the presence of starch in potato tuber. She forgot the reagent
with which the starch gives blue colour. Help her to select the correct stain from the
following :

(a) Safranin
(b) Methylene blue
(c) Iodine

(d) Eosin

The correct method of obtaining an onion peel is to :
(a) take the thinnest bit after meshing an onion leaf.
(b) make thin sections of a thick scale leaf using a blade.

(c) use of forceps to pull out a thin transparent peel from a concave surface of a scale
leaf.

(d) useaneedle and forceps to remove a thin peel from convex surface of a scale leaf.

Cells are stained to

(a) Makes the cell turgid.
(b) Nourish the cell.

(©)

(d) Highlight the cell organelles.

Help in cell multiplication.

Plant cells with thickened at corners, non lignified cell walls are :
(a) Parenchyma.

(b)  Collenchyma.

(c) Sclerenchyma.

(d) None of these.

Branched striated muscle fibres interconnected by oblique bridges are :

(a) Unstriated muscle fibres.
(b) striated muscle fibres.

(c) Cardiac muscle fibres.
(d) None of these.
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